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HiX ARG, WHREA T REEED L Ll
W EZnE, FE L ASESRHAER,. —NMEtZE
AL, FAASHR 4 8 A 9 9518 St At 3t - “ You must stop to
smoke here. "8 PG H AW G, BRIUE , KA F): “Do you
mean | must get off the bus?”
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T H T infinitive(AER) , TRMEREANT
W1

FiE P Y infinitive (R E &), gerund (3h £ i),
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AT SR B T hia e sed5 8, AT UA 8 2 BRIE
(adverbial) \EE1E (object) %, 10

I saw Peter riding a bicycle.

I want to go by car.
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1. NBEHEHRE

—RX(EERM) LA MFE, & H 2 Governor To
Visit China Next Month(#8 F A ii#), —1MN¥4F
TR ek ,%%%&Ej LA I to go to Ocean Park
tomorrow Wg?”

R A7, BAPHREE . EXEAREREKR
B, AN EEX AR .7

H5E, Governor To Visit China Next Month 34/ &
—MNaF. RAEEEERF, B : The Governor is to
visit China next month. {EER#T FIta&E , B IR B i, —
BT, ARBREEE, T LLRAAZENAF. B
WHE EXERARIET , —EEATENE AR
EERREFE,

The Governor 7s to
VIsit China next




I to go to Ocean Park tomorrow. 22 i LA%E , BB H
T “to go" X infinitive( A E R ) 1E 5] F B predicate (i
&), infinitive BABEIXFEFIN . IEBARA)FRZE

I am going to visit Ocean Park tomorrow.

AR 72 3 B 3630 4 337, B7E 44 present
participle) .33 %4317 (past participle ) 7 B8 B 1 45 =)+
IRE. .

A typhoon coming to Hong Kong soon. (Wrong)
A typhoon is coming to Hong Kong soon. (Right)
I written three reports by now. (Wrong)

I have written three reports by now. (Right)

Exercise 1

Each of the following sentences has four underlined parts,
find out the one which is wrong:
1. Unfortunately, two of the boys bitten by snakes the
b

a
last time the family camped in the valley.
c
2. Because he was very sick, he lying in bed waiting for
a b c d

the doctor to come.
3. To Mrs Foster and Miss Rosen the advice sounded
wrong but everyone else at the meeting to consider it

a b c

perfect.
d




10.

. The news of the loss suffered by our troops being

a b
much worse than we had expected.
c d

. I knew that without him to help me, it being difficult

for me t_o_rsgagr the roof an(;1 p_z;(iin_g the frolslt porch.
It is possible that Indians originally migrated to the
Western Hemisphere over a bridge of lan?:i %{c once
existing b_d_vg_@ Siberia and Alaska.

c

. Ever since the Civil War, the status of women been a

a b c
social issue in this country.

d

. The thief must have entered by the kitchen window

a

and to ste | the silver while the family was asleep.
If somk;one were cto look t}gr@gh the wiidow, he
would seeing onfy an empty room.

c
He has been sitting at the table for several hours and
to_drinks cznsiderably more wine than is good for his

b c d
health.




2. To Go £ & To Goes ?

— K, RAEH BRI I W28 W 22 A O IR -

A: My father wants to goes to Europe with my
mother.

B: Really? My father also wants to go to Europe.

PAZERENEBILFE2ME,H TR T
HA—BE, U A Y 7

B &XTH o

B AE X (infinitive) — X B to + 3l 8 I 4 B,
EAZAH]FEIE (subject) B AFR (person) 13X (number)
BRI, BT L A RIR ECH

My father wants to go to Europe with my mother.

My father wants
to go fo Europe
with my mother.

e



Xn:

Last year my father invited a friend to went to Africa
for a visit. (Wrong)

Last year my father invited a friend to go to Africa for
a visit. (Right)

sHAAE A RE T £, B R BB o go, ARE

i}é to went,

Exercise 2
Each of the following sentences has four underlined parts,
find out the one which is wrong:

1. Lucy Tsang saw the robber enterings the bank from

a b c
his bedroom window.
d
2. Itis often easier to selects a particular tool than
a b c
to use them correctly.
d
3. The only way to reached the edge of the forest was
a b
to take the narrow dirty path in front of us.
c

4. She got up early to is ready for the class.
a b c d
5. Her daughter managed to come and sees her
a b
three times, but her son-in-law had never come.

c d




10.

. The little boy wouldn’t go out to plays until the post-

a b c
man came,

d

. All of a sudden, she saw the postman turnings round

a b c
the corner on his bicycle.

d

. He seemed to be able to locked into the future and he

a b
took his readers along with him to share the wonder-
c d
ful view.
At 13 he was sent to worked in a shop where he

a b c

could learn the business.

d

He passed his examination with such good marks that
a
he was given the chance to studies science at London
b c d

University.




3. P ToREZEH

—XK RN, REREEE TR T RENES
WA MARZRE, BEELER DR, XFEMT
2

1)Can we to see the ferry piers from here?
2)We must to keep Hong Kong clean.

REGRIE, FEMRBRER T “o RERK" I
TE must, can (could), may (might), need, dare, will
(would) ,shall (should)ZFiFZ G shiRIERAGEH to.

Exercise 3

Choose the best answers:

1. I may a few fish.
a. catch b. tocatch c. catches d.catching

2. What will the weather like on Friday?
a.is b. be c. being d. to be

3. I can English,but I can’t French.
a. speak, to speak b. to speak, speak
c. speak, speak d. speaking, speaking

4. We must always clean water. We mustn’ t
_ dirty water.
a. drinks,drink b. drink, drink



c. to drink, to drink d. drinking,drinking
. Shall I and borrow a fishing-rod?
a. go b.gone c.todo d.going

. Would you please me a favour?
a. togo b. doing c¢. do d. done
. You must your hands but you needn’ t
your hair.
a. wash,comb b. washing, combing

c. to wash, to comb d. washed, combed
. Have I got lessons before I use an aqua-lung?
a. have b.had c.to have d.having

. It might wiser for him not to go.
a.is b. tobe c. be d. being



